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(i3 K& BEBIUE | RERAUF | IRARIUL | R—F2R
1 AE SE 163.88 120.00 4388
2 | KA TR 141.86 100.00 41.86
3 |HT ZE 104.40 90.00 14.40
VEEVILY - Sy | 84.06 50.00 34.06
5 |#5K PEAX 74.66 65.00 9.66
6 |FHIF G 49.88 49.88
7 iglR It 49.08 40.00 9.08
8 | KIE %= 45.61 15.00 30.61
9 INE BE 40.81 24.30 16.51
10 |B&=E iR 39.45 32.50 6.95
1 |He #E 37.18 32.50 4.68
12 B EW 35.80 7.00 28.80
13 |=58H Bh 34.36 30.00 4.36
14 | KH FEFE 32.76 29.00 3.76
15 |8 EEKEA 32.19 25.00 7.19
16 |pRIR EiE 25.48 12.00 13.48
17 |58 K3} 23.24 14.30 8.94
18 (BN FHA 22.20 9.00 13.20
19 | X%f7 & 22.18 19.00 3.18
20 |(FA1R 4 21.50 11.50 10.00
21 |&HFLE BN 20.25 11.90 8.35
22 |BEH B 17.60 17.60
23 |EXR &R 17.28 5.42 11.86
24 |Z2M@H E5h 17.18 6.50 10.68
25 |KJL Kb 16.97 15.00 1.97
26 |Lrr EBEiE 16.62 12.00 462
271 (FR| &3l 15.75 2.30 13.45
28 |{ki&E EEBp 14.85 5.60 9.25
29 |[GIL IhE=E 14.24 8.50 5.74
30 |HIl #Z2—EH 13.94 10.00 3.94
31 MK R=H 13.80 9.95 3.85
32 |BEZE EF 13.54 7.30 6.24
33 |AH 13.35 12.00 1.35
3 B FEK 11.39 9.80 1.59
35 /AR ZFEHER 10.50 10.50
36 |[F HM 9.93 4.01 5.92
37 |&F EfK 9.88 9.88
37 /MR BX 9.88 8.00 1.88
39 | FAR RiE 9.80 6.50 3.30
40 |hNEE W% 9.79 8.95 0.84
4 R HE 9.78 5.42 4.36
42 [EH BF 9.72 4.70 5.02
43 |NE Bk 9.65 6.50 3.15
44 (BRI F=iEE 9.45 9.45
45  |3ZA 9.23 1.70 7.53
46 |£€F HE 8.89 5.50 3.39
47 |[FBR SEIK 8.70 6.00 2.70
48 | BE{f 8.52 4.80 372
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IE 4 K& BEBAUE | RERAUE | HRRAUL | R—F2R
49 |Z2H EXER 8.17 4.30 3.87
50 |/NEH HIFE 7.71 5.00 2.71
51 |RAIFE #F 7.70 7.70
52 |2 K5 7.68 2.60 5.08
53 |EH KE 7.63 6.50 113
54 |HAFT KEE 7.57 7.57
55 |[REH | 7.43 5.00 2.43
56 |MEH HK 7.15 5.50 1.65
57 | &= 7.12 5.30 1.82
58 (2R #IR 6.93 3.56 3.37
59 |28 =ik 6.71 4.00 2.71
60 |EFRE HE 6.56 5.42 1.14
61 |y ZE 6.47 5.42 1.05
62 |hNgE Eh 6.15 3.60 2.55
63 |k = 578 450 1.28
64 |E=F XiE 5.65 4.10 1.55
65 |FBF H— 5.37 3.60 1.77
66 |H/iIE BX 5.32 4.30 1.02
67 | RKaE BER 4.95 2.00 2.95
68 |H&ZLHE =H 4.93 3.35 1.58
68 |ELIU KIE 4.93 3.80 1.13
70 |¥E K5 4.56 3.40 1.16
7 |FH BEZNT 445 3.40 1.05
72 |HE HEE 443 1.00 343
73 |[IUE @fE 4.32 2.40 1.92
74 |WRE KA 4.00 1.00 3.00
75 |;hEH | 3.71 1.00 2.71
76 | KA EiE 3.68 1.70 1.98
77 |R”RiE ¥E 3.49 2.80 0.69
718 |FTH BERD 3.41 1.70 1.71
79 |#EF FHiE 3.37 2.10 127
80 |1REE 12 3.32 1.35 1.97
80 |BAK EBE 3.32 2.00 1.32
82 |fElR TyZ 3.20 1.60 1.60
83 |dt4t %A 3.18 2.00 1.18
84 |FEIL =E 3.10 1.10 2.00
85 |fAfE Bt 3.08 1.00 2.08
86 |[EH miFl 3.03 2.20 0.83
87 |H/R Ok 3.00 3.00
88 |EAE M 3 2.87 1.90 0.97
89 |ImO EFE 275 1.10 1.65
90 |EF XF 2.72 1.70 1.02
91  |EAK W& 2.69 1.95 0.74
91 (Il /R 2.69 2.06 0.63
83 |EF EBEX 2.62 2.62
94 |HFH Ki 2.50 250
95 |FTHY PE 2.46 2.46
96 ([ FOiE 2.43 1.00 1.43
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97 |[AIfE AKE 2.18 1.00 1.18
98¢ |JIliE#E EI& 2.12 1.00 1.12
99 |[ME EXK 2.10 1.00 1.10
100 | KH 2.05 2.05
101 |€F E=H 1.93 1.20 073
102 [/DEY iE 1.85 1.00 0.85
103 |Ay =EAF 1.84 1.00 0.84
104 |BE EBIEZ 1.83 1.83
105 |ZE # 1.77 1.00 0.77
106 |EFF ALFE 1.73 1.00 0.73
107 |[lUkg 3 1.67 1.00 0.67
108 |5FH Z=EIT 1.65 1.65
108 |dbiR sEH 1.65 1.65
1o |JIlE Bt 1.63 1.00 0.63
M |k K8k 1.35 1.35
12 |hngk K& 1.32 1.32
13 |tHE {# 1.30 1.30
14 |B=E FE 1.23 1.23
14 I AKX 1.23 1.23
116 |FBEE Fnis 1.15 1.15
17 | 1KE 1.13 1.13
17 I EE+ 1.13 1.13
119 |BAI ZHEN YU 1.00 1.00 0.00
120 |FHB R 0.97 0.97
121 |[IUTF =|IR 0.94 0.94
122 |fEH TR 0.92 0.92
122 SBLIU 3T 0.92 0.92
122 |[IUTF F0U 0.92 0.92
125 |{Efk Kkt 0.90 0.90
126 1: ‘B IS 0.88 0.88
127 |$81B KE 0.85 0.85
128 =F% i 0.84 0.84
128 |Hf EX 0.84 0.84
128 |IgH —E 0.84 0.84
128 |f#HH 1§$ 0.84 0.84
132 B[R it 0.82 0.82
133 |JIIEF BMEK 0.80 0.80
133 |EBE @i 0.80 0.80
135 |kik BfE 0.79 0.79
136 |HH K5 0.74 0.74
136 | KZE N+ 0.74 0.74
138 | L[ {§=F 0.73 0.73
139 |18 BFHF 0.72 0.72
140 (O =AM 0.71 0.71
141 |F EE 0.69 0.69
141 | TFE X 0.69 0.69
141 33 X 0.69 0.69
144 |fBH KE 0.68 0.68
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IEfz K4 EBEARAUE | REERAUE | MERAVL | A—FR
144 |thit &) 0.68 0.68
144 |{Eik [FEE 0.68 0.68
147 |Fk @\ 0.67 0.67
147 |5£ KR 0.67 0.67
147 |#% EFf 0.67 0.67
150 | B EE 0.65 0.65
151 BRI F8N 0.64 0.64
151 |FEHA EX 0.64 0.64
153 |[{ERAKEFH 0.63 0.63
153 |FEiEZIE 0.63 0.63
153 |H[E F0 0.63 0.63
156 | EAE FEXHE 0.62 0.62
157 |IUTFT SREER 0.61 0.61
157 |BFARE EA 0.61 0.61
157 |FEE Kth 0.61 0.61
160 |FHH ZEH 0.57 0.57
161 |BHE =X 0.56 0.56
162 ;B KEg 0.55 0.55
163 |[REH KZE 0.54 0.54
163 |#F ERE 0.54 0.54
165 |dt L= 053 053
165 |BR K 053 053
167 |FIff $hifE 0.51 0.51
167 |EE &E3 0.51 0.51
169 |TJIl  #& 0.50 0.50
170 |5t HiE 0.49 0.49
170 |#RFT EX 0.49 0.49
170 |¥ K% 0.49 0.49
173 B EBH 0.48 0.48
174 |JI| L E%%{E 0.47 0.47
175 |TMR EE 0.44 0.44
176 |8 X 0.43 043
176 [INE E 043 043
176 |[@JII 2 043 043
176 *E :H:% 043 043
180 |IRE KIF 0.42 0.42
181 |HH FHH 0.40 0.40
182 |#B7E SEfE 0.39 0.39
183 |Zgith XK 0.39 0.39
184 |ZEH FE 0.35 0.35
184 | R¥ 24 0.35 0.35
186 |y FTE 0.34 0.34
187 (I E %3] 0.28 0.28
188 |HF FlK 0.27 0.27
188 |RER $hilE 0.27 0.27
188 |BRJII  EE 0.27 0.27
188 |t A& 0.27 0.27
192 |{kiE —H 0.24 0.24
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IE 4 K4 BERAUL | REBRA | EARSF | R—FR
192 |[AKR EZE 0.24 0.24
192 GA[%y JRAT 0.24 0.24
195 | Hig K 0.20 0.20
195 |EH B 0.20 0.20
195 |HF BA 0.20 0.20
195 |HH EHi 0.20 0.20
195 (FfTEH EfE 0.20 0.20
200 i@ M HE 0.18 0.18
201 | K& & 0.17 0.17
202 |RRIS SERER 0.14 0.14
202 |#5K BRER 0.14 0.14
204 |0 REFH 0.12 0.12
204 TN KB 0.12 0.12
204 |E5K HEX 0.12 0.12
207 |Eix Hth 0.10 0.10
207 |EEIL JEK 0.10 0.10
207 |3AiE [E 0.10 0.10
207 |HLE Th= 0.10 0.10
207 |FAH EH 0.10 0.10
207 |FE KHE 0.10 0.10
201 |1 & 0.10 0.10
207 | L KRR 0.10 0.10
207 | B K% 0.10 0.10
207 | R FEE 0.10 0.10
207 |FRE A& 0.10 0.10
207 | B8 =EA 0.10 0.10
207 |{kH HEHt 0.10 0.10
207 [/ HJ) 0.10 0.10
207 |3k FE5 0.10 0.10
207 |FAE [EEA 0.10 0.10
207 | RIGF E{Z 0.10 0.10
207 |RIJII FHA 0.10 0.10
207 | KA BE=E 0.10 0.10
200 | B #B—H& 0.10 0.10
207 |5ia {BHD 0.10 0.10
207 |EiE IGEE 0.10 0.10
207 |IUAN EERE 0.10 0.10
207 | ZEJI| FF 0.10 0.10
207 |{REE HE 0.10 0.10
207 |HE FHE 0.10 0.10
207 |RKP A 0.10 0.10
207 |FERN 1—F 0.10 0.10
207 | KR #®E 0.10 0.10
207 |BRE EZk 0.10 0.10
207 |BREE ik 0.10 0.10
207 | BT 1ERE 0.10 0.10
207 |Hd FIK 0.10 0.10
207 |ZEE FOAR 0.10 0.10
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IEfz K4 BEBAUE | RERAUE | HRRAUL | R—F2R
207 | KIF FE 0.10 0.10
200 |B¥E =i 0.10 0.10
207 IS =2 0.10 0.10
207 |MK HiK 0.10 0.10
207 | B1R Bk 0.10 0.10
207 | £ 0.10 0.10
207 |HER Huf5 0.10 0.10
207 |ATF RE 0.10 0.10
207 |ZEE fHFE 0.10 0.10
207 |XBE K[F5 0.10 0.10
207 (BRI )II SRBK 0.10 0.10
207 |#AIE fLK 0.10 0.10
207 |[EA B\t 0.10 0.10
207 |FE FAX—Hf 0.10 0.10
207 |BE KiE 0.10 0.10
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